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Factory overhead in cost accounts was Rs. 15000 while in the
actual overhead was Rs. 12255

(4) 3 FERITRN Yoob DI UM 1200 WU |
Share transfer fee received was Rs. 1200

(5) FATAD Yot 1000 HYY BT Y fbam 7 |
Rs. 1000 was paid for Director's fees.

(6) 50000 T BT 7 R T TR M1 Tb TART &1 @1 AT | 39
R R @@l # 10% @ &R ¥ g T AT 8 | M9 FHRE
[EESSICEIERIF
Machine costing Rs. 50000 was installed but not yet used.
Depreciation@10% was charged in the financial books.You are

required to prepare a reconciliation statement.
OR

ST ORI TRIT kil oRAi & T H 3R @ DRUIT bl WL HIfoM |
State the reasons for disagreement between the cost accounting and
financial accounting profit.
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Vi [kM Ve nl viryikgh 1°u g] ftlg gy djuk viuok; gA
[k.M *c* el yXikjh ¢*u ,o [k.M "I* e nik mikjh ¢c*u gA [k.M

N dk Bcli igy gy djA
Note : Section'A’, containing 10 very short-answer-type questions, is compulsory.
Section B’ consists of short-answer-type questions and Section 'C' consists of

long-answer-type questions. Section 'A' has to be solved first.

Section - 'A'

futukfdr viry?dkjh ¢*uk d mikj ,d ;k nk okD;k e nA
Answer the following very short-answer-type questions in one or two
sentences (1x10=10)
TS 1. AN oG Bl SGHA........ DI AT BT IR IR & e F T |
Cost accounting originated to meet the deficiencies of.......
ged 2. 9 T A P AR = IAeA R + [T A1l w1 uRMe
IDY-(TCTA)....ooooeeeeee
Cost of goods sold = Cost of production + opening stock of finished
goods (minus)...............

T 3. AU AT @1 U8l ST Uge ST [FIFO] fafd Suged gl & Sa

GRS A &l |
Firstin First out [FIFO] method of issuing materials is useful when prices
1) (O
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%T‘rl DIRYTT Dl hNHT T 'CIIQ’;\ICZN DT HH.............. STH Y HAT SITdr %|
In a factory, the labour of foreman and watchman is treated
AS.ieiiiieeeieaenns Labour charges.

gfe o, a1 @1 50% & A1 AN Bl...... U2 &9 8197 |

If profit is 50% of sales, then the percent of profit on cost will be............
DREMT SURSY BT Uchel HOIGNl bl a2 () =
Percentage of factory overhead with direct wages (formula)=................
IS g BRI ff b & Jod BT 60% BT Al A BT W BT ™
BT

= 3P W BT AHHAT IY X = X

If the work certified is 60% of contract price the profit of profit & loss
account will be.

= Credit balance of contract account

ST9 Ufehar @d ¥ IRdfde 81, I 81 & &F 8l € df ]Fl &

‘When actual loss is less than normal loss, the difference between the two is
called........ccccvvvveeeee

Income tax is notincluded in........ccc........... accounts.

T 10.99 [dT0E fd7g T8 € ST8l.re

R 1.

Break Even point is that where.......................
Section - 'B'

futukfdr y?% mikjh; c¢'uk d mikj 150&200 *iCn Dhek e nA
Answer the following short-answer-type questions with word limit
150-200 (5x5=25)
AT olEidh] & HEd &l He H ARAT BIfoT |

Discuss the importance of Cost Accounting in brief.

C)) Code No. : B-316(B)
OR
UReETer o1 fafer 31 ar Q1T 27 Uas ararna aRdred drnTd 9
PHIAME 3ih! Aed TIR HINTT Ud SHH FlRford #aT DI FHSISY |

What is meant by Operating Costing? Prepare a Transport operating
Cost Sheet with imaginary figures and discuss the various items included
init?

ged 5. fAefoRad & (1) Gafdeas a5 (2) gRefm A (3) & AT JIgUTd

UG (4) 16000 HUI A HHM @ forv fasha Sid HIvT -
Calculate (1) Break Even Point (2) Margin of safety (3) Profit Volume
Ratio and (4) Sales to earn a profit of Rs. 16000 from the following :
Wl ST ufc ad 8000 wUY

Fixed Cost per year Rs. 8000

gRec il ST Ul 3db1s 4 “™W

Variable Cost per unit Rs. 4

9y & foy fasha 20000 WU

Sales for the year Rs. 20000

Selling price per unit Rs. 20

OR
1) TS &I AN ol J&id 99 2016 & oY 50255 WUY Bl AT
TR Bl & | S7eb < WIdl Ud ST @l T faelidhe H]
R = SIFeRT Ui 8%
The Cost books of Shri Rajeev for the year 2016 show a profit
of Rs. 50255. The following information is gathered through
the observation of his financial accounts and cost accounts:

(1) =T @l # TIHR BT 15000 U BT YA o |
Income Tax Payment of Rs. 15000 was made for income for
in financial accounts.

(2) o<l oral # areiey ST &Y < 2000 B o |
Bad debts amounted to Rs. 2000 in financial books.

(3) AN oGl H BREMT SURAI 15000 ®UY o SIdfd dAR<dd
IURST 12255 FUY o7 |

P.T.O.
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SPHaR §RT 2,00,000 U YT T 1T ST YA BRI 6T 80% T |
AT BRI 5000 ®Y o7 | =ie fau I A9 [Aweai # & g1+
GTd H ST (BRIaRY) fhy S arel o &1 fFeiRer sifog afe
Rs. 2,00,000 was received by the contractor which was 80% of work certified.

Work uncertified was worth Rs. 5000. Determine the profit to be credited
(Tran sfered) to Profit & Loss A/c the following three alternatives.

(i) BT 400000 ®UYY B / Contract price is Rs. 400000
(i) P 600000 WYY B / Contract price is Rs. 600000
(i) TP 1100000 WU © / Contract price is Rs. 1100000

U 4. Uh BRI Bl SedTa &l G UihAral ATl B I 8ldR ddR Bl
2 | UM URHAT (A) T I & T IURATE Bl HH BRS fgaiid
gfehar (B) @ foTv weell ARl 999 STl & | A &7 SUldTe ool B &l
QUIE WY HREM H & 99 & 9 8| 71991 gon dRa™ &
SRdl ¥ o g
The product of a company is manufactured by passing through two
processes A and B. By minimizing the wastage and by-product of the first
process (A), raw materials are formed for the second process (B).

By-product of A and by-product of B are sold off directly from the factory.
The following information is obtained from the factory records :

¢fd ;k@Process A ¢fd ;k@Process B

(1) bzl A 2000 T X 4060 Hfced -

(Raw materials) (2000 ton at Rs. 40 per ton)

(2) HoTgNl / Wages Rs. 50000 Rs. 40000
(3) BRI YR I BT 60% HIQ BT 75%
(Factory overheads) 60% of Wages 75% of Wages
(4) &3 / Wastage c+/Ton 20 c-(Ton) 40
(5) SUITE &1 Ay 80 T T+ 25 Yoet™ 110T SR+ 20% ™
(Sale of by product)  80Tonatcost+25 %Profit 110 Ton cost+ 20% Profit

ufshar A T Ufhar B WA Td A SUIKATE WTdT a2 B SUldTe Tl
IR HIT | 96 Ufhar R SATEd P Ufd e T Ud Idd
I @ I R A sy |

Prepare accounts for process A and process B and also for A by product
and B by product. Show the cost per ton at each process and the profit on
the sale of each by product.

Date

Dec. 3
n 18

" 28

R 2.

IR 3.
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OR
o= faqaror 1 fowar 2016 @1 Ul 37T Ugel ST [FIFO] Ugfd &
AR AT BT R e gu W WIar 981 daR HIfoTg

From the following particulars prepare stores Ledger Accounts showing issue of
materials for the month of Dec. 2016 under First in First out [FIFO] method :

Uit / Receipts I / Issues
L1 | B R VI D forfer AT
Qty. Rate Per kg.(Rs) date Qty.
200 20 Dec.4 100
300 18

" 10 50

" 20 300
50 15

" 30 100

Ife e (THITUd) IR Ufdfed 8 gHhgadl & IR AFS (FH1fUq)
BRI DI GRT DR el AT S B W Af&d BRI BT dTel SHDb]
Bl qIRIH® &R 3 /Y Ui IHIE T | 3T DI BT &R 2,50 HUI Ul
SHTs © Al fFrfeRad Sares 8F W) ufa sifie iR sira ifsg
[CoR WaIHD BIITJAR FOgX] &R UG BT ITIRT B | ]

The standard out put fixed for the day is 8 units. The rate of wages payment
for workers producing the standard output or more is Rs. 3 per unit and
the rate for other is Rs. 2.50 per unit. Calculate the wage payment for the day
if outpur is as under [ Apply Taylor's Differential Piece wage rate method] :

qfdH(Worker) A 10 3P13I1(Units)

1% (Worker) B 8 SHTSAT(Units)

s1fHd(Worker) C 7 $HTSAN(Units)

s1fHd(Worker) D 6 SHTSAN(Units)
OR

He gueT &) o9 fFEiRd & ol 8?

How is Machine Hour Rate determined?

fFfoaRed & vgad ARl @ Jea &1 iR I -

From the following determine the value of raw material consumed :

P.T.O.
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1. 9 &1 URWS Wy
[Opening stock of material) Rs. 20000
2. I BT A
(Material purchased) Rs. 130000
3. IIR® (hd) TrSHTST
(Freight on purchase inward) Rs. 3000
4. |l @ sifcrH REfaa
(Closing stock of raw material) Rs. 30000
5. IMyfciral &I aT9d AT

(Material return to suppliers) Rs. 4000
OR
JHIOTT B U JYHTONT P Bl FHSS |
Explain work certified and work uncertified .
T IeUTGeh <A UishIAl | [ORaT &— Ufshar a7, ufshar @ gd ufsha
|| 1000 ST IeUTE BT IcdTa- gall, oNTd -1+ YR off :
Aproduct passes through three processes Process A, Process B and process

C to completion. The production of the commodity was 1000 ton. The cost
were as follows :

Process A Process B Process C
.(Rs.) .(Rs.) .(Rs.)
AT
Materials 3000 1500 1500
Wages 1500 3000 5250
T @
Manufacturing expenses 1500 4500 5250

U UfshdT BT AN TAT el AT ST DR &g UfhdT Wil g15¢ |

Prepare process accounts to show the process cost for each processes

and the total cost.
OR

uRelg e fhariier ud aiftiisd e fhariey &l FHsIsy :
Explain Absolute Ton km and Commercial Ton km.

(7 Code No. : B-316(B)

T 3. 10 3TTEI 2011 B BRI Alglbel HHT DI 500 AIgfbell Bl MY &
FE BG oI IERUT bRl & 1 ARl A oI IERuI(Fw) BT
Teh faaRer GaR Iy R Reer ) g€ o 10% afierd & |
On 10™ August 2011, Hero cycles company was required to quote a
contract for the supply of 500 bicycles. From the following information
prepare a statement showing the price to be quoted (Tender) to give the
net profit of 10% percent on selling price.

(1) 6 718 ¥ fAffad vd fawia asfea

Bicycles manufactured and sold during six months 2000 Cycles
(2) faspar 7137 / Sales Amount Rs. 270000
(3) |t @1 wid (01.01.2011)

Stock of material on (01.01.2011) Rs.50000
(4) |t &1 wid (30.06.2011)

Stock of Material on (30.06.2011) Rs.7000
(5) AT sha / Material purchased Rs.75000
(6) ucger #uigyl / Direct Wages Rs.150000
(7) dREET A3 / Factory Expenses Rs. 25000
(8) R A1 &1 3ife\ i (30.06.2011)

Closing stock in hand (30.06.2011) Rs. 50000
(9) 3T 2011 ¥ UeT Aol # 10% o Al 4ed # 15% gfg 8

B TG 2 |

As from August 2011 the cost of direct wages in expected to
increase by 10% and that of material by 15% .
(10)PRET FI Ui sh1s ReR 2T |
Factory expenses will be fixed per unit.
OR
The following expenses were incurred on an unfinished contract during a year :
.(Rs.)
AT / Materials 100000

oIl / Wages 65000
3 Y / Other expenses 15000

P.T.O.
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U 5. oM HIET ITUId Ud \Afdewe fd=g Fr 22

What is Profit Volume ratio and Break even point?

OR
ST Rl bl ki oRaT A AR o S fdeRor 93 T Uy S84 |

Prepare the proforma of Reconciliation statement to reconcile the cost
and financial accounts.

OR
R UdIpd oRdidh Ugfd o 87?
What is Non-integrated system of accounting?
Section - 'C'

futukfdr nh?k mikjh; ¢*uk di mikj 300&350 “kin Bhek el nA

(Answer the following long-answer-type questions with

word limit 300-350)

(8x5=40)

T 1. fqaRoT | SEER) 2017 A1E BT CMRIE MG eI UG o

Date

A &1 A oo feard gU e @il 981 9918y

From the following particulars prepare stores ledger for the month of January
2017 showing material issue prices on the Weighted Average Price Method :

| Tt GIGEIREREE]
Receipts of materials Issues of Materials
sHEAl R U sae (W) fafer EEZERl
Units Rate per unit (Rs.) Date Units

oiH./Jan. 1 500 2

10

18

27
28

29

SiH./Jan. 2 400

200 3

" 15 100
400 4

"22 200
300 5

= 2 units loss were revealed during stock verfication
Wi FATTT & F9I 2 SHISAT DI T B TSN A1 T8
Returns 10 units [Issued on 15th Jan.]
10 SHTgAT A9 3M1S 52 15 SRl DI I fbar o

i ./Jan 31 300
P.T.O.
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U 5. oM HIAT ITUId Ud \Afdewe fd=g Far 27

What is Profit Volume ratio and Break even point?

OR
ST Rl bl ki oRal A AR B e feRor U3 T UeY S5 |

Prepare the proforma of Reconciliation statement to reconcile the cost
and financial accounts.

OR
R UdIpd olRdidh Ugfd o 87
What is Non-integrated system of accounting?
Section - 'C'

futukfdr nh?k mikjh; ¢*uk di mikj 300&350 *kin Bhek el nA

(Answer the following long-answer-type questions with

word limit 300-350)

(8x5=40)

T 1. T f3aROT | SEER) 2017 H1E BT CMRIE AEd eI UG o

Date

A &1 A oo fard gU e @il 981 9ISy

From the following particulars prepare stores ledger for the month of January
2017 showing material issue prices on the Weighted Average Price Method :

| Tt GIGEIREHEE]
Receipts of materials Issues of Materials
shIsdl X U sHIS (B) Al EERR]
Units Rate per unit (Rs.) Date Units

oiH./Jan. 1 500 2

10

18

27
28

29

Si./Jan. 2 400

200 3

" 15 100
400 4

"22 200
300 5

= 2 units loss were revealed during stock verfication
Wi FATTT & F9I 2 SHISAT DI T B TGN A1 T8
Returns 10 units [Issued on 15th Jan.]
10 SpTgAT A9 3M1S 58 15 Sa™l DI I fbar o

i ./Jan 31 300
P.T.O.
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OR
fewoft ferRau / Write note on :
(a) NI Ug faR orEl § orR
[Difference between Cost and Financial Accounts]
(b) U H U4 3IYTe HH
[Direct and Indirect Labour]
Il SRR BRI @ M IcdTe fIMRT Ud &1 Jar 3T 8§ SuRel &
fqaRor &1 ARie 71 g T

Betul Tyre company has three production departments and two service
departments. The summary of distribution of overheads is as under :

Iare favmT RECIRGLIE

Production departments Service Departments
Rs. Rs.
X 9000 R 700
Y 6000 N 900
Z 3000

Jar oI & J B e gl @ SR R TSl fhar S R

Expenses of service departments are charged on the basis of following
percentage :

X Y Z R N
R 20% 40% 30% - 10%
N 40% 20% 20% 20% -

Ja1 fmT & =t &7 srgaud (fedias faaror Hem) ooy
Apportion the expenses of service department (Secondary distribution summary).
OR
fewoft ferRau / Write note on :
(a) Y Ud ITATHRY BRI A8y
[Normal and Abnormal Idle Time]

(b) TG YA DI BT ATl
[Halsey plan of wage payment ]

R 2.
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OR

fewoft ferRau / Write note on :
(a) NI Uq R orEl § orR

[Difference between Cost and Financial Accounts]
(b) U H U4 3IYTeE H

[Direct and Indirect Labour]
9l SRR HHAI & 9 IedTe Q9T Td &1 Jar [T € Sulket &
faaRor &1 ARIE 791 UPR 7 -
Betul Tyre company has three production departments and two service
departments. The summary of distribution of overheads is as under :

Icre fawmT RECIRGLIE

Production departments Service Departments
Rs. Rs.
X 9000 R 700
Y 6000 N 900
Z 3000

I fIrT & A & 9 ufded & R W el fhar S B

Expenses of service departments are charged on the basis of following
percentage :

X Y Z R N
R 20% 40% 30% - 10%
N 40% 20% 20% 20% -

HaT fI9T & @i Bl g (fediae faaror wera) iy

Apportion the expenses of service department (Secondary distribution summary)

OR
feoof ferRav / Write note on :
(a) WY UG NI BRISH 9
[Normal and Abnormal Idle Time]

(b) I YA DI BT ATl
[Halsey plan of wage payment ]




